EXPANDING AND FACTORISING QUADRATICS

Pearson Edexcel - Thursday 8 November 2018 - Paper 2 (Calculator) Foundation Tier

1.

(a)

(b)

10x* = 11lx =6

(x+ Dx +3)

Ml

Al

M1

Al

for 3 out of no more than 4 terms correct with correct signs or 4 correct
terms ignoring signs

cao

for (x £ 1){x £ 3) or for (x + a)(x + b) where eitherab=3 ora+b=4

cao

10— 15x +4x -6

NB: 10x" = 11x and —1lx — 6 are indicative of
3 correct terms.
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2.

24

(a)

(b)

(c)

6 —dx +3x =2

+6 Ml for one value (6 or —6) or Y36 or an embedded answer eg2x6'=72
Al +6
Gx*—x—2 MI for at least 3 terms correct out of a maximum of 4 from expansion, or 4 terms correct
ignoring signs.
Al cao
(x+3F Bl for (x + 3P or (x+ 3)(x + 3)
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3.

26

x—Dx+4) Ml(x+Dkxx+4)
Al (x = 1)(x + 4) oe
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4.

18

(x+4)(x+5)

-5 and 4 nfww

M2 M2 for (x+ 4)and (x + 5)

or

M1 for (x+ a)and (x + b) where ab =20
ora+b=9orx(x+4)+5(x+4)
orx(x+5)+4(x+5)

If M0 scored SC1 forx+4 =0 and
x+5=0

B1 STRICT FT their factors dep on two
brackets in factors.

If 0 scored SC1 for answers +5 and +4

For M2 or M1 condone omission of
final bracket




OCR Thursday 8 November 2018 — Morning (Non-Calculator) Foundation Tier

5.

15

(a)

3 + xy — 2y final answer

M2 for 3x® — 2xy + 3xy — 27 oe
or M1 for two comect terms

Accept e.g. 3yx
May be seen in a table for M1

{b)

M4 for 3d + 20 =17 oe

Accepteqg. c5

or
M3for6+ c=100r 3d + 5¢c =17
or 6x + cx = 10x

or

M2 for 6x + 3d + cx + Scoe

or
M1 for 6x + 3d or cx + 5¢
OR

Biforc=4

and
B2 ford=-1

(<)

2, 5 nfww

M2 for (x —2) and (x - 5)

or

M1 for (x + a) and (x + b) where

ab= 10cra+b="7

B fit their quadratic factors

If 0 seored SC1 for answer £2 and 25
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6.

M1for3x<22+2o0r3x<22+2
or3x=22+2
orx>8orx=8

If 0 scored, SC1 for answer x = E

orx<6

winy w

12 |a 4cd — 20c¢ final answer 2 M1 for 4cd or —20c¢ in final answer Condone 4dc
4ed + —20c scores M1 only
Do not accepteg4d x cx d
b 3x7 — 10x — 8 final answer 2 M1 for at least three of the following terms | May be seen in a table
correct
3¢ —12x +2x — 8 -10x implies both — 12x and 2x
c x<8 2 Mark final answer Condone x < 8 for 2 marks

Condone 8 on answer line for M1
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7.

18

(x —43)(x + 43) final answer

Condone omission of final bracket

1400

M1 for (57 + 43) (57 —43) FT their
quadratic factors in (a) or better
or B1 for 3249 or 1849 seen

M1 for FT factors (x + 43)(x + 43)
or (x —43)(x—43) only
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8.
- Br —Br + 64 i allow one ermor or omission
terms may be seen in a grid
X = 16x + 64 Al lgnore fw eq if attempting to solve
Do not ignore fw if attempting to simplify
Additional Guidance
PF=16x(+K) k#6564 M1AD
28 +F — By + 54 M1AD
=18y + B4 =— 15" + B4 M1AD
x* = Br + Bx + 64 (one emor) M1AD
%+ By + Br + 64 (one emor) M1AD
x% = Bx + Bx + 64 (two errors) MOAD
X + B4 (two errors) MOAD




